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PRACTICE ONE
Time — 30 minutes

30 Questions

Numbers : All numbers used are real numbers.
Figures : Position of points, angles, regions, etc. can be assumed to be in the order

shown ;and angle measures can be assumed to be positive.
Lines shown as straight can be assumed to be straight.
Figures can be assumed to lie in a plane unless otherwise indicated.
Figures that accompany questions are intended to provide information useful
in answering the questions. However, unless a note states that a figure is
drawn to scale,you should solve these problems NOT by estimating sizes by
sight or by measurement,but by using your knowledge of mathematics (see
Example 2 below).

Directions ; Each of the Questions 1— 15 consists of two questions,one in Column A and
one in Column B. You are to compare the two, quantities and choose.
A if the quantity in Column A is greater ;
B if the quantity in Column B is greater;
C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Common
Information ; In a question,information concerning one or both of the quantities to be compared is
centered above the two columns. A symbol that appears in both columns represents the

same thing in Column A as it does in Column B.

Column A Column B Sample Answers
Example 1, 2X6 246 & OO ®O

Example 2—4 refer to APQR

i

G

)



Example 2, PN NQ S OOoO@ ©
(since equal measures
cannot be assumed,
even though PN and
NQ appear equal)

Example 3, x y O ®O®O®©
(since N is between P
and @)

Example 4. w+z 180 [CACE _SCORC)

A if the quantity in Column A is greater;

B if the quantity in Column B is greater;

C if the two quantities are equal;

(since PQ is a straight

line)

D if the relationship cannot be determined from the information given.

Column A Column B
1. 5[(24+2)+5] 50
ji—k=2"
k—6=4
2. j 10

Richard’s salary, which is greater than
$10,000, is 75 percent of Sandra's
salary. Ted's salary is ‘80 percent of
Richard’s salary.

3. Sandra’s salary Ted's salary
£ 2x0.60 1

x+y 180—z

On a trip, Marie drove 200 miles in 5
hours using gasoline that cost her § 1. 49
per gallon.

6. Marie’s average Marie's gas
speed for the trip mileage for the
in miles per hour  trip in ‘miles per

gallon
7. /100 4 36 16

The average (arithmetic mean) of 12 and

20 is equal to the average (arithmetic

4[’1



mean) of 15 and x.

8. X 16

The total surface area of cube C ecjuals
150.

9. The length of one edge 4.5
of cube C.
10. x+ 32y 32x+y
A
c D
B

O is the center of the circle

11. AB The average ( arith-
metic mean ) of CB
and DB

12. x—1)x+1) x?

The circle has center O and radius 1

13. The area of the shaded 1

region

The sum of the lengths of two sides of

isosceles triangie K is 7. K has a side of

length 4.

14. The perimeter of K 11

S is the set of all fractions of the form

L where n is a positive integer less
n+1’
than 20.

15. The product of all the 1

fractions that are in S

Directions ; Each of the Questions 16 — 30 has

five answer choices. For each of these ques-
tions, select the best of the answer choices

given.

16. If C is the center of the circle above,then
X+y=
A. 45
B. 65
C.90
D. 100
E. 130

17.1If 0. 768=1Xm,then X is closest to which

of the following?
A.0.77

B. 0. 80

C.8

D. 76

E. 77



. .000
18. If n—-«1=§—,then nt1= B. ¥4.0
C. ¥3,000
4
A. 3 D. ¥2,000
5 E. ¥1,000
B.
3
C. % 20. If a circular region has radius.r and area
8 k, then X is equal to
D. — r
3 A.x
. 11 R
"3 B. 2x
C. %
19. Karl’s net income is always 80 percent of
r
his gross income. What will be the in- D. =
crease in Karl’s net income when his gross E.rx
income incteases from ¥20,000 to
¥ 25,0007
A. ¥5,000

Questions 21— 25 refer to the following graph.

PERCENT RETURN ON SHAREHOLDERS' EQUITY
MANUFACTURER X VERSUS ALL UNITED STATES MANUFACTURERS

[Manufacturer X WAl United States Manufacturers

PP — ——q20%
= s j//:__: :1,/:’_5 15%
3 Vg I« f e
= H — B .y
— |Q/{ o i » e R
5 il s 5 o B =
5 " — =
ETE e Ve
[ . - -
O 313 nyy =
==l =
1684 1685 1588 1587 158%
Yeor
Note ; Graph drawn to scale
21.1f shareholders in Manufacturer X had dollar amount of the shareholders return
¥ 100 million in equity in 1987 ,then the on this equity was



22.

24.

A. $ 82. 0 million
B. $ 18. 0 million
C. $ 15. 5 million
D. $ 12. 5 million
E. $ 1. 85 million

In 1986 Manufacturer X's return per dol-
lar of shareholders’ equity was approxi-
mately how much greater than that of all
United States manufacturers?

A. $0.01

B. $0.02

C. $0.025

D. $0. 035

E. $0. 045

- The decrease in percent return on share-

holders’ equity for all United States manu-
facturers from 1987 to 1988 was approxi-
mately how many times the decrease in
percent return on shareholders’ equity for
all United States manufacturers from
1985 to 19869

A9 ‘

B.6

C. 4.5

D.3

E. 1.5

For the year shown, other than 1987, in
which the percent return on shareholders’
equity for Manufacturer X was most near-
ly equal to that for 1987, what was the
percent return for all United States manu-
facturers? :
A. 8%

B.12. 5%
C.15.5%
D.17%
E.17.5%

25.

26.

27.

Which of the following statements can be

supported by the data in the graph?

I . The percent return on shareholders’
equity for all United States manufac-
turers decreased from 1984 to 1988
by less than 10 percentage points.

I . A return on shareholders’ equity of
more than 7 percent was achieved by
each United States manufacturer in
1988.

I . The shareholders’ equity for Manufac-
turer X was greater in 1987 than
1988.

. I only

I only

I and T only

- I and I only

I,I and U

0 /\\ 138

/]

MY 0w s

In the figure above,rectangle PQRS is in-
scribed in the circle and PQ = 6. If the
area of rectangular region PQRS is 48,
what is the area of the circular region?
A. 107

B. 25x

C. 36x

D. 48=x

E. 100x

The expression , where n is not e-

1——
n

qual to 0 or 1,is equivalent to which of

the following?



i -

A. a prime number

n—1 B. divisible by 11
lin C. a multiple of 13
S C.n—1 ) D. an even number less than 10
n E. a number having 4 as its units digit
n—1
n
E-T Answers to Practice One
28. If y is the average (arithmetic mean) of n 1.B 7.B 13.B 19.B 25.A
consecutive positive integers, n > 1, what 2. A 8. A 14.D 20.E 26.B
is the sum of the greater and least of these 3.A 9. A 15.C " 21.B  27.A
integers? . 4.C 10.D 16.C 22.E 28.A
A. 2y 5.C 11. A 17.E  23.D 29.E
B. ny 6.D 12.B  18.D 24.D 30.E
R
C. 5
D. ¥
n
E. 20
y

()7_____1?
a

‘Q

29. In the figure above,the circle has center O
and radius r,and square OPQR has sides
of length 2r. What is the area of the shad-
ed region in terms of r?

A. art+ 3r?
B. ar?+44r?

C. —j—(nr2+4r2)

2 2
D. 3nr ;l— 4r

2 2
E. 3ar -i-lﬁr

30. The product of two consecutive positive
integers CANNOT be
6




Numbers

Figures

Directions

Common

PRACTICE TWO
Time — 30 minutes
§ 30 Questions

: All numbers used are real numbers.

. Position of points, angles, regions, etc. can be assumed to be in the order
shown ;and angle measures can be assumed to be positive.
Lines shown as straight can be assumed to be straight.
Figures can be assumed to lie in a plane unless otherwise indicated.
Figures that accompany questions are intended to provide information useful
in answering the questions. However, unless a note states that a figure is
drawn to scale,you should solve these problems NOT by estimating sizes by
sight or by measurement,but by using yéur knowledge of mathematics (see
Example 2 below).

: Each of the Questions 1—15 consists of two questions,one in Column A and
one in Column B. You are to compare the two quantities and choose.
A if the quantity in Column A is greater;
B if the quantity in Column B is greater;
C if the two quantities are equal;

D if the relationship cannot be determined from the information given.

Information ; In a question, information concerning one or both of the quantities to be compared is

centered above the two columns. A symbol that appears in both columns represents the

same thing in Column A as it does in Column B.

Column A Column B Sample Answers
Example 1. 2X6 246 OO ®®
Example 2—4 refer to APQR




Example 2. PN NQ . OO & O
(since equal measures
cannot be assumed,
even though PN and
NQ appear equal)

[ON: NONONG)

Example 3. x y
(since NV is between P
and Q)

ERCRON - NGORG]

Example 4, wtz 180 ®

A if the quantity in Column A is greater;
B if the quantity in Column B is greater;

C if the two quantities are equal;

(since PQ is a straight

line)

D if the relationship cannot be determined from the information given.

Column B

Column A
5. (V3)@VENWVE) 646
a_3
b 4 The product of two integers is 24.
b
1. a2 1 6. The sum of the two in- 12
tegers
x24x—12= 0
R=§+5—g++—1
2. X 6 4
—gped 11 1 1 1
P=8+ 2 3715 7
3. The area of rect- The area of a
angular region rectangular region
7. The amount by which 3
with shorter sides with shorter sides
P exceeds R
of length 5 of length 4
3—x=7 AN
34y=7 AN
A _}x
4. X



8. X y
b—a a+b
9. a+T 2
¥ i
3
l
\\(c,d) l
\A; ’ X
d
l .
LN
10. c+d 0
Tickets regularly cost $ 1. 00 each
"11. The amount saved per $0.25
ticket if 5 tickets are
purchased for the regu-
lar price of 4 tickets.
12. X 90
The charge to transport a van consists of a
$ 23 fixed charge and $ 2 for each foot
of the van’s length in excess of 18 feet.
The length of Pat’s van is n feet,where n
is an integer greater than 18.
13. The number of dolldrs 2n—13
charged to transport
Pat’s van

4 is x percent of 5k

Part of a circular table top is a square in-

laid chess-board of maximum area

15. The area of the chess- 2
board as a fraction of

the area of the tabletop

Directions ; Each of the Questions 16— 30 has

five answer choices. For each of these ques-
tions, select the best of the answer choices

given.

16. When a company’s payroll was reduced
from $ 35,000 per week to $ 29,500
per week ,how much less per week was the
company’s 4 percent payroll tax?

A. $22

B. $40

C. $180
D. $220
E. $1,180

17. In the figure above, the circles with cen-
ters O and P are tangent. OC=3,and PD
=6. What is the length of AB?

A.6
B. 9
C.12
D. 15



E. 18 A. —30
B. —15
¢ -7l
D. 15
E. 30
18. The circle above is subdivided into 5 sec- ' \ -~ e
tions. To what number would the arrow be \ / !
pointing if it started at 0,as shown,and 50° \ .
rotated through 159 consecutive sections ‘/ \;
in a clockwise direction?
A.0 20. In the figure above, if lines | and m are
B.1 : parallel ,then x =
¢.2 A. 20
D.3 B. 30
E.4 C. 70
D. 110
19.If x—3y=15,then 6y — 2x= E. 130

Questions 21— 25 refer to the following graphs.

INCOME OF ORGANIZATION X IN 1990,BY SOURCE
(total income= $ 43,000,000)

Other
1%

Investments

6%
Govemninent
10%
Individuals
Foundations - 60%
1%

Corporations-
2%

10



